Savnord
ME 323: Mechanics of Materials Homework Set H21

Summer 2024 Assigned/Due: July 10/July 12

Consider the single-node truss shown below.

a) Draw a free body diagram of joint C and write down the equilibrium equations for the joint.
Show that the problem is statically indeterminate.

b) Choose an appropriate set of redundant constraint force(s) from your FBD above.

¢) Write down the strain energy expression for the truss.

d) Use Castigliano’s method to determine the load carried by the three members of the truss.
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